BEZAR—IFFE)—Y

H30.10.17 (KIRISHIMAY X SO SEIB R LS EE A E)

A #&
A/x—}F

K4 9574 1 2 3 | BE | &
1 |;2-ES LR REBY @ @ | 2/2 | 1
2 |BE-10HE ARy 0 @ | 172 | 2
3 |BE-E TIL—RHA 3 1 0/2 3
B/\—k

K4 Pk 4 5 6 7 | B | IRGL
o Bk |EREL @ | 2| 1 |13] 4
5 |EBE-EE (B2 r,_x 0 ®| ® |23 1
6 [ —RH-EHR |HERIN @ 2 3 [1/3] 3
=t B TR iy Ay @ 1| ® 2/3 | 2
C/\—hk

K4 Pk 8 9 10 | IEGRD | JEfE
8 [ F-AtER |QTD @ | @ |22 1
9 | KAR-IN\NEE |BHRIIL 0 @ | 1/2 | 2
10| K- [EALTAR 3 | 2 02 | 3
D/\—k

K4 95T % 11 12 13 | B | B4
HTARK el ypasto @ | @ |22] 1
12| KHEJI-FEAX ETE@%}X 0 @ | 172 | 2
13|BK-KEK AB—DJ73)—X 0 3 \ 0/2 | 3




B #&k

A/N—hk
K4 o rk: 1 2 3 B | IEAL
YL TA—R
LK R - B Py @ | 3 | 172 2
2 |UEK-RiE HERATYS L 0 0 0/2 | 3
[Tr) 4 EIF='JIz€-‘4—Z
3 E*'HET& INKDNESSD @ @ 2/2 1
B/Y\—Fk

K4 95T 4% 4 5 6 | BEE | IE
TRUNTIRY: T/ N 3 | 1 (o2 3
5 | FE-fBE BERTAIL @ @ | 2/2 1
6 |SIR-FF YULTA—R @ 0 1/2 | 2
C/\—k

K4 o rk: 7 8 9 B | IEAL
7|=%k-BK 2,’%‘;1,‘,:/1 2 o |o2| 3

PN INKDOINESST
8 |an-ax |[gERDE7S @ o |1/2] 2
9 |FiE-i1IEA 5> @ @ 2/2 1
D/s\—}k

K4 95T % 10 1 12 | B3 | B4
BB )—0TZRY5T

10(FRF-IB (T8 2 3 |02 3

S (11~ ch A #;EFAA
12| #3358 - dH o TIL—RhA @ 2 1/2 2
E/x—}

K4 95T 4% 13 14 15 | BhzE | JEf
13E-mm (SEXTIV @ | 2 | 12| 2
14[HR-HFO BRI 2 3 0/2 3
15 |#HI% - Hoh YL TLA—R @ @ 2/2 1




K4 9574 16 17 18 | BEE | IEAL
16| =Z-FWl [EXRLT—R @ @ | 2/2 1
17|28 8- 7= 34 BFERTAIL 0 @ 1/2 2
18|Hp-EE YULT4—R 1 1 0/2 3
G/\—h

K4 95T 4% 19 20 21 | BE | B
19|fHA-{E4K |AALTI—R @ 2 1/2 2
205K KR - /NP Eﬁ;’;}f‘ 0 2 [ 0/2] 3

== EEXRLT1—R

21 |FAR- KLU #lu)ifo;}b @ @ 2/2 1
H/\—F

K4 9574 22 23 24 | BBE | B
2| B%H-ILTF R <AL @ @ | 2/2 1

s ) TILF RER

23|WNE-FE  |Spsl 0 0 | 0/2| 3
24 | Lk - & J1| BT )—T7=2957 | 3 @ 1/2 2
I/s—k

K4 9574 25 26 27 | BiE | B

= |7IT4T

26 (2 1L- R TGS )—0T=2957 | 1 0 0/2 3
27| -XKH YULTI—R @ @ 2/2 1
C #&

K4 H57% 1 2 3 4 | BE | B

E@HI57
TRER-KK =22 3 | @ | 1 |1/3] 2
2|=g-AE  |[EERLTOR @ o | o [1/3] 4
HRLT

3 |%EF-MI |y —x 1 @ 1 [1/3] 3
4 |LETE-BE |[ELXRELT—R @ @ @ 3/3 | 1

7-5=+2

4-7=-3

5-4=+1



